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L. (20 pointé) Evaluate the limits.
(a) (6 points) lim x(n /(i+nx)
X000
b) (6 points) i x%y?
oints im ———
erer =00 2x2 +y?

] ) x + 2)1/1 _ xl/x
c) (8 points) lim
( ) ( p ) =55 (x + 3)1/.\r — xlx

2. (32 points) Evaluate the integrals.
("3 In(tan x) J
——dx

J 4 SID X COS X

0 el/x
(b) (8 points)

(a) (8 points)

(c) (8 points)

& i cilh i
(d) (8 points) J l P vy/a? +y* + 2dzdxdy
J_2Jq

] ._\_w___tl,.__\l

3. (8 points) Find the volume of solid obtained by rotating the region bounded by the following curves about the x —axis:
= —3y7 4+ 12y =945 0.

4. (8 points) Evaluate the line integral J F.dr, where € is given by the vector function r(s);
C
F(x,y,2) = (x +yDi+ x 2§+ + 2)k and ry =131+ =21k, 0<f =2.

1
5. (10 points) If z = —[ f(x —y) # g(c + ¥)], show that
X

d ( 202) , 0%z
—x—)= s
ox 0x dy2

6. (12 points) F(x) is the absolute value function if F(x) = |x].
(a) (6 points) Prove that if f is a continuous function on an interval, then so s the absolute function} f |.
(b) (6 points) Is the converse of the statement.in.part (b) also true? In other words, if | /| is continuous, does it follow
that fis continuous? If so, prove it. If not, find a counterexample.

7. (10 points) Given any series Z a,, we define a series z a; whose terms are all the positive terms of Z a, and a

. = . - N .
series Z a, whose terms are all the negative terms of 2‘ a,,. To be specific, we let
a,+a,| __u,,—]a

n I
a, = 2

If Z a, is absolutely convergent, show that both of the series Z a} and Z a,; are convergent.
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